******Pure Comparative Negligence:
1. P sues D. Counter-claim: D sues P.
2. P: 25% fault, has 100k damages 
3. D:75% fault, 50k damages.:
a. Two judgments (subtract own percentage fault from own total loss): 
i. P gets 75k 
ii. D gets 12,500.  
iii. (P likes 2 payouts, bigger award)
b. Set off (net difference goes to the party with the bigger damage award – one judgment for net amount):
i. P gets 62,500
ii. D gets 0
iii. (Insurance companies like 1 payout.)

****** Three Ways of Allocation in Failure to take Advance Precautions Situation  (p.402)
1. $100,000: damage
2. $76,000: damage created by failure to wear the seatbelt
3. Plaintiff= 30% fault
4. Defendant= 60% fault
5. Seatbelt= 10% fault

6. Traditional Approach: failure to wear the seatbelt is ignored so remove seatbelt fault percentage:
a. Remove seatbelt (10%) from total.  Total damage is still $100,000. But total % fault is now 90%.
b. Plaintiff fault 30/90ths at fault (1/3) and D is 60/90ths at fault (2/3)
c. Total Plaintiff gets 2/3 x 100K = $66,666

7. “Reduction” Moderate Approach: Restatement 3d 
a. For the portion of the damage created by failure to wear seatbelt: 
i. Plaintiff gets (D’s amount of fault 60% x $76k amt of this part of the dmg) = $45,600
b. For the portion of the damage having nothing to do with seatbelt: 
i. Plaintiff gets (ratio of 2/3 (see above) x $24k amt of this part of the dmg) = $16,000
c. Total Plaintiff gets 45,600 + 16,000 = $61,600

8. Total Bar: disallows Plaintiff from getting any damages having to do with seatbelt.)
a. Plaintiff gets none of 76k (caused by failure to wear seatbelt) under total bar approach. 
b. Removing seatbelt fault amount, ratio again is 2-1, so 30/90 or 1/3.
c. But only looking at the $26,000 not seatbelt related damage:
i. Plaintiff gets (ratio of 2/3 (see above) x $24k amt of this part of the dmg) = $16,000
d. Total Plaintiff gets $16,000 


Comparison between J&S and Comparative Fault:
	
	Joint & Several with contribution
	Comparative Fault
	(Discussion)

	Both Defendant’s Solvent and Present
	D1 – 10k
D2 – 90k
	D1 – 10k
D2 – 90k
	Same result where both are solvent!

	Insolvent or Phantom
	D1 – 100k
D2 – 0
P - 0
	D1 – 10k
D2 – 0
P – 90k
	 Where D2 is insolvent, J&S makes D1 responsible (theoretical right of contribution from D2). Makes sure P gets paid.
 Comp Fault caps D liability based on percentage of fault & leaves Plaintiff liable. 


****** Joint & Several:
1. Plaintiff = 0% at fault, $100,000 damage
2. D1 = 10% fault
3. D2 = 90% fault
4. Under J&S, P can collect the 100k from either D, or both jointly for an amount adding up to 100k.

****** Comparative Fault:
1. Total Damages: 100k
2. D1 fault: 25% = D1 has a judgment of $25k 
3. D2 fault: 75% = D2 has a judgment of $75K
4. The risk of one D being phantom or insolvent goes back to P. If D2 is a turnip then P only gets 25k.  

****** Law Professors’ Solution to Who Bears the Risk of Insolvency:
1. Total Damages: 100k
2. P fault: 10%
3. D1 fault: 20% (but a turnip)
4. D2 fault: 70% 
5. Turnip D1’s % that wasn’t going to get paid gets fixed proportionately between P & solvent Ds 


****** Immunity vis a vis co-defendant:
1. V 15% fault
2. H 42% fault (but Claim against H is barred)
3. P 43% fault
4. Two options:
a. P should pay it all then: 85%
a. But more fair would be to just eliminate 42% and say:
i. V is liable for 15/58
ii. P is liable for 43/58

******One more example: 
1. 100k damages
2. P fault 40%
3. D1 fault 40%
4. D2 fault 20%

under Joint & Several
1. D1 fault 40% - responsible for 60k (total of D1 & D2 fault)
2. D2 fault 20% - responsible for 60k (total of D1 & D2 fault)

under Comparative Fault
1. D1 fault 40% - responsible for 40k (only responsible for own percentage fault)
2. D2 fault 20% - responsible for 20k (only responsible for own percentage fault)

under Vicarious Liability/Respondeat Superior
1. D1 (EE) fault 40% - responsible for 0 (not for nothing, cuz the boss gotta pay up)
2. D2 (ER) fault 20% - responsible for 60k (20k of ER and 40k of EE)
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